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B3 —2 BEWICEATILEESNOERICHTIEE/) _ REEE | 7ok
[ SlErHhOuE | BhEs 02051029 [ B3 | L FRGEHE | 7 AL e
‘ SMERMO FinlICBHEI 51 SMERHN
ﬁ:ﬁ% TREDBBOEIENOKRES TREDHBEEILHOKRES TREOBBOFSLADKRES TREFDHFERIENOKRES
1 100kN/m%#8Z%| 1.00| 000 ~ 142 121.63 |3m#E#BZ % -~ - -| 100kN/mM%#BZ% | 1.00 | 1080 ~ 1615 121.63 |3mEEZS ~ -
ZhLs 100|142 ~ 921 100.00 | #Fhist 000 ~ 921|226 11.41 ZhLst 10015600 ~ 1080| 100.00| FhLs | 6.00 ~ 1615|226 11.41
2 100kN/m%#8Z 5| 1.00 | 000 ~ 055 108.19 |3m%E#BZ % -~ -| 100kN/mM%#BZ% | 1.00 | 10.79 ~ 1250 10819 |3mEEZS ~
ZhLs 100|055 ~ 834 100.00 | Thust | 0.00 ~ 834|208 10.62 ZhLst 10015600 ~ 10.79| 100.00| Fhs | 6.00 ~ 1250 2.08 10.62
3 100kN/ Mm% 23 ~ -|3mERBZD -~ -| 100kN/ %z 5 ~ -|3mEHEZD ~
Zh s 1.00| 000 ~ 576 71.96 | #hist | 000 ~ 576 1.81 9.15 Zh s 1.00|5.00 ~ 6560 71.96 | =S | 5,00 ~ 650 1.81 9.15
4 100kN/ Mm% 23 ~ -|3mERBZD ~ -| 100kN/ %z 5 ~ -|3mEHEZD ~
Zh s 1.00| 000 ~ 412 51.52 | #nLS 000 ~ 412|204 10.33 Zh s 1.00|5.00 ~ 500 51.62 | TS | 500 ~ 500|204 10.33
5 100kN/ Mm% 23 ~ -|3mERBZD ~ -| 100kN/Mi%#BZ 5 ~ -|3mEEZD ~
Zh s ~ Zh s ~ Zh s ~ Zzh s ~
6 100kN/ Mm% 23 ~ -|3mERBZD ~ -| 100kN/MiZ#BZ 5 ~ -|3mEEZD ~
Zh s ~ Zh s ~ Zh s ~ Zzh s ~
7 100kN/m#%#8 23 ~ -|3mERBZD ~ -| 100kN/MiZ#B 5 ~ -|3mEEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh s ~
3 100kN/ Mm% 23 ~ -|3mERBZD ~ -| 100kN/Mi%#B x5 ~ -|I3mEEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
9 100kN/mM%#x.% ~ -|3mZE#EZ D ~ -| 100kN/mM%#B 2z % ~ -[3mZEEBZS ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
10 100kN/mM%# x5 ~ -|3mZE#EZ D ~ -| 100kN/mM%#B x5 ~ -[3mZERBZ S ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
17 100kN/mM%#8 x5 ~ -|3m%E#EZ D ~ -| 100kN/mM%#B x% ~ -[3mZERBZ S ~
Zh s 1.00 | 0.00 ~ 497 61.93 | FhLst | 000 ~ 497|204 10.29 Zh st 100|500 ~ 624 61.93 | TS | 500 ~ 624|204 10.29
19 100kN/mM%# x5 -~ -|3mZE#EZ D ~ -| 100kN/mM%#B %% ~ -[3mZERBZ S ~
Zh s 1.00| 0.00 ~ 477 59.44 | Fhs [ 000 ~ 000|170 8569 Zh st 1.00|5.00 ~ 500 59.44 | TS | 500 ~ 500|170 8.69
100kN/mM%# x5 ~ 3ImEBZD ~ 100kN/ Mm% x5 ~ ImEHBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%# 2% ~ 3ImEBZD ~ 100kN/ Mm% x5 ~ ImEHBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
100kN/mM%# x5 ~ 3mEBZD ~ 100kN/ Mm%z % ~ ImEHBZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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